FgArea: [0 ]
NC11 G3-2
2025-05-20 (Day 8)




|||||||||||||||||||||||||| - 00
-~
- ©
— O
> >
+ - O
F <
M
- N
T T T T T
o o o o o o
o o o o o
o < ™ N ~—
|||||||||||||||||||||||||| - 00
-~
- ©
o
-~
- ™M
— O
> >
L + F o
T T T T T T
o o o o o o o
o o (=) o o o
© 0 < ™ N —
|||||||||||||||||||||||||| - 00
F~
- ©
— O
> >
+ - O
F <t
- ™M
/|2
T T T T T T
o o o o o o o
o o o o o o
[{=] [fe] < (9] N ~—
|||||||||||||||||||||||||| - 00
-~
- ©
o
<
F o™
— O
> >
+ - N
o

600 -
500 -
400 -
300 -
200 -
100 -

80 -
60
40 -
20
0

= -
= ™
™
+ ® -
T T T T T T T
o o o] o [{e] o o] o
~ o N o ~ 0 N
— — — —
|||||||||||||||||||||||||| - 00
-~
- ©
©
w0
F <
=
>
N
+ ™
T T T T T T T T
o (=] o o o o o o o
© < N o © © < N
— — — —
|||||||||||||||||||||||||| ')
-~
- ©
-0
<
= -
= ™
+ - N
T T T T T T
o o o o o o o
o Lo o Lo o Lo
(32] N N - —

F O
o - <t
o
<
¢ |,
T T T T T T
[ee] ™~ © [I9] <t N o
o o o o o o o
T T
||||||||||||||||| B I S I HP
1 1
1 1
1 1
1 1
1 1
1 1 -~
1 1
1 1
1 1
1 1
1 1
1 1 ©
1 1
1 1
1 1
1 1
© 1 1 F o
1 1
1 1
1 1
1 1
[ [
1 1 s
1 1
1 1
1 1
1 I o
1 1= +o»
| 1©
1 [ISg
1 I
1 _+
1 I
® 1 1 -
1 1
T T T T
[o0] (=} < N o
o o o o o
T T
|||||||||||||||| | I S R EpN
| |
| |
| |
| |
| |
i i
1 ] o~
i i
i i
| |
| |
| |
| |
1 1 e
i i
i i
© | |
| |
| |
| 1 L
| | ©
i i
i i
i i
i i
| |
| I x <
| 1=
| 1 °
i | N
i i
i i
i i +
i i m o
| |
T T T T T T T
r~ © o < ™ N ~— o
o o o o o o o o
T T
||||||||||||||| N PR DI R
] ] «®
| |
| |
| |
| |
i i -~
i i
i i
i i
| |
[
— ©
| |
i i
i i
i i
© ] ] -1
| |
| |
| |
| |
[ [
i i -
i i
i i
| |
| ™
] = +m™»
| 1 °
i -
i i
i i
i i
| | B
| |
T T T T T T T
~ [{=] [fe] <t ™ N Al o
o o o o o o o o

4 VI vs Du

450 ~

400 -

350 -

300

250 -

200 -

3 VI vs Du

550

500

450 -

400 -

350

300

250 -

2 VI vs Du

550 A

500 A

450 A

400 -

350 -

300 A

250 A

1 VI vs Du

600 -

500 -

400 ~

300

600 700 800 900
DU

500

400

600 700 800 900
DU

500

400

600 700 800 900
DU

500

400

600 700 800 900
DU

500

400

4 FR

——

T T T T T T T T
< N o © © < N o
P>) o i) < < < < <
o o o o o o o o
o
o
- L
T T T T T T T
o o o o o o o
Irs) IN S ~ T3y Y S
© © o o T} Ire) i)
o o o o o o o
o
[
" L
T T T T T T T T T
IN o © © < N o © ©
© 1) i) Irs) ) o Irs) < <
o o o o o o o o o

FR

0.75 A
0. 70 -
0. 65 -
0. 60
0. 55 -
0. 50 -

5.0 5.5 6.0 6.5 7.0 7.5 8.0

4.5

4.0

7.5 8.0

7.0

—0— 3 setVl
T T T T T T T

6.5

6.0

5.5

5.0

4.5

4.0

5.0 5.5 6.0 6.5 7.0 7.5 8.0

4.5

4.0

5.0 5.5 6.0 6.5 7.0 7.5 8.0

4.5

4.0

—0— 4 setVI

65
60 -
5
0
5
40 -
35

T T T T T T T
[{e] o o o [Tl o o
~ ~ © © o 9] <
>
Fe)
(]
(]
~ -
T T T T
o o o o
~ © o <

1 setVI

——
@
T

90
80 -
0
0
50

6.5 7.0 7.5 8.0
NA)

6.0
d

4.5 5.0 5.5
4 (fgArea

4.0

5.0 5.5 6.0 6.5 7.0 7.5 8.0

4.5

4.0

5.0 5.5 6.0 6.5 7.0 7.5 8.0

4.5

4.0

6.5 7.0 7.5 8.0

6.0
d

1 (fgArea

5.5

5.0

4.5

4.0

d

3 (fgArea

d

2 (fgArea

NA)

NA)

NA)

|||||||||||||||||||||||||| - o0
-~
- ©
- O
<
53
o
*
N ) ™
o O
w ol
+ - N
T T T T T
o o o o o
o o o o o
o [Te} o e} o
< ™ ™ N N
|||||||||||||||||||||||||| - o0
-~
- ©
- 0O
- <
=X
o
*
) ™
o O
w ol
+ - N
T T T T T T T T
o o [=} o o o o (=]
o Lo [=} o o o] o o
Lo N o ~ o) N o ~
™ ™ ™ N N N N —
|||||||||||||||||||||||||| - o0
-~
- ©
- 0
F <
=
o
*
— O ™
[ ]
w ol
+ - N
T T T T T T T
o o [=] o o [=] o o
Lo o Lo o o o Lo o
~ e [ o ~ e} N o
™ ™ (32} ™ N N N N
|||||||||||||||||||||||||| - o0
-~
- ©
O
<
=
o
*
—_ O ™
[ ]
w ol
+ - N
T T T T T T T T T
o o o o o o o o o
o o o o o o o o o
[{] < (] o [ee) © < N o
™ (52) ™ (32} N N N N N



—®— PHI*10%
—0— PHO

I

2

3

—@— PHI*10%
—0— PHO

I I

2 3

—@— PHI*10%
—@— PHO

—@— PHI*10%

—0— PHO

I

2

3




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-2_0, Day=8 (2025-05-20)

M. VBJFRV, ET ~ VI, VO, FVI, VO, FRV, ad jFRV, ET

10
0.6+
0.4 ~ 102
0.2- I

194

00 0O

- 30

- 20

- 10

FRV (ml plant-1)
o
~
1

TargetEC=2500. 0,  TargetSetEC=2368. 0

TargetPH=6. 5, TargetSetPH=6. 2

0.2~

o
© -
o o
=

]
]
I
ByWoﬂv @Db8 01:33: ET=194 Fg=210.0 Ro=6.0

(=2}
o
1

By
o
1

ET (ml/hr/plant)

N
o
s T

=

T
w
o
o

T
N
o
o

T
—_
o
o

cumET (ml/plant)

—_
o

11

12

16

17

18

19

20

22

23

0.8 -

E3
B

=
B

E3
B

E3
B

=
B

£33
B

E3
]

E3
B

=
B

B

E3
B

E3
B

0.6 1

0.4+

0.2~

0.0

800 A
600 -
400 -

200
, 'PPFD_obs’] is missing

387

25 -
20 -
15 4

10 4 s, '"To_obs'] is missing

80

60

40 -

Warning: lcol ['RH obs’, 'RHo obs’] is missing

—— RH

0.6 1

0.4+

0.2~

0.0 T T
0.0 0.2 0.4

0.6

0.8

1.

0

0

0

0

FRV (ml d-1)



hour

100

6:45
80
7:00
9:15 60
10:55 40
12:45
20
14:45
-0
o
S &




G3-2

BfiE) | EBETK (D) | EE (EH/AR) | XK SR

06:45 85 30.0 FA| 1B2i%@06:45 Fzh (KPBIEREEE)
07:00 85 30.0 FA| {Ri%@07:00 Fzi (kAEEHE)
09:15 85 30.0 |Z=| {Ri%e09:15 Fz1 (KREEZBE)
10:55 85 30.0 |Z=| {Ri%e10:55 Fz1 (REEZEBE)
12:45 85 30.0 5| 1Ri%e12:45 F GREAEREE)
14:45 85 30.0 E BRige14:45 Fz1 CGRAERESE)
Bit| 510.0 (62%) 180.0 3ZHKEC: 2850.0, PH: 6.2

EIREBRATHCR IR EIZ I (85 vs 53.0))

ZRIASCPRIERE48. 0 ml.

REXFEBIPH (10.34) 5i&%EPH (6.5) RERK, FHRE
REXEBPH (10.34) 5FMPH (6.5) REKKA, BFHRE

FERZEBIEC (2533.0) 5FMEC (3273.0) RERK, BHE
LRGERIEC (2450.0) 51RBIEY (2850.0) REK K, BHHRE.

ERGEBPH (10.4) 5iREME (6.5 RERK, BHRE.

EREBPH (10.4) S5REGZY (6.2) RERK, FEE.




G3-2_0, Day=7 (2025-05-19)
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